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HIGHER SECONDARY 

HALF YEARLY EXAMINATION 2017 
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 

HSE-XII 

Maximum : 60 Score 

Time: 2 hrs 

Cool off Time : 15 minutes 
~eneral instructions to candidates: 
• There is a 'Cool off time' of 15 minutes in addition to the writing time of2 hours. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read the questions carefully before answering. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the Examination Hall. 

ml<3(Jln'l1S cru0cn><mIDlm nJJO@{l] 15 0lml§ 'ce,4uil 630oJJ 6)6)S0' 226Tls0cn>l<lll<B6>6o. 
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cfu6mc06) cfu4§8.1Jcfuuil, .!1..llL®6Gl3uil, L(l)OO..OJcfuuil, n(j)<TOlOJ 22<mID<llC8nJ\½:!Ol<U8<mID@<TO 226TlsOcn>l©l<B6>6mo. 

C8.!1..IOB~6Gl3uil 08.lcn>Og1<mIDl8.16o m<U8cfulcn>l§JGrn. 

~OJU1> ~ 12lJglli cru.o8.l©TO) cru00J0cfu ~ 6cffiuil 6)cfu0S J<B6>6mo. 

C8LnJOL(l)012lJcfuuil @.!1..lcg>OmOcfuO©lID cfuO<U8<B6>JC88.lgo6cfuuil 63\Pl@cibm>Jglli 63<llJ gQ8.ldhC8LS06mldh 22nJcfu<ll6IDOJJo nJ<ll1 

cfh9:10n.00g1l<U8 22nJC8cn>O(l)l<B6>0® nJOSl'ij;J, 

PART-A 
ACCOUNTING 

Answer all questions from 1 to 4. Each carries 
1 score. 

1 r.ni@~ 4 ru6l<l><DJl~ aj)~::> c-"::>o~6?IDWcf)6)lo 

~©lID<l>o aj)qJl<IDl.&, 1 cruc.a.::>© ru'la»o 

1. Unless otherwise agreed, a new partner 
acquires his share in profits from the old 

1. 12lRJ cru4.!l.Jfficfu§1@~ffh1m8 6306 o.J6@1W o.JffhO 

§1c0@ ®3WO§J6)5 Q.IO@ ruln.01®0 o.J\PW o.JffhO 

2. 

partners in ___ _ 
a. Equal ratio b. Old ratio 
c. Capital ratio d. None of these 

A retiring partner took over furniture 2. 
worth Rs. 12,000 for Rs. 8,000. His capital 
a/ c balance before adjusting the above 
is Rs. 55,000/-. His loan a/ c will show 
a balance of ___ _ 
a. Rs. 43,000 
c. Rs. 55,000 

b. Rs. 47,000 
d. Rs. 63,000 

§lcfu§1m8 m1<m6o Q.1@1d36:l6<m@ ___ _ 

Q.106TD. 

a. ®JQ.lj ®3m6o.Jo®o 

b. o.J \PW ®3ffi 6 o.JO<IDo 

C. 12l4Q.!Wffi ®3ffiJo.JO<IDo 

d. g20J6)(Il)0(TT)Jl2)~ 

ru1001d36:l6<m 6306 o.Jffh0§1 12,000 0 4o.J ru1Q.I 

WJ~ n.0©6TT)1.~,j<3 8,000 0 4o.Jc0@ nQ36)gSJd36:lJ 

<m6. @® ~061J@<;Hs6cmm6<m®1cn 0 6cru6~ 
®3W0§6 6) s 0 4 Q.I wm ®3d36:l 'D~ 6TlJ o Q.I® m'5 

55,000 0lo.J(Il)()6TT), @3(Il)0§J6)5 ~Q.106113 

CTr@ d36:l 'D 6l1i c0:, 0 6lT) 1 d36:l 6 (TT) 6TlJ O Q.I a3 CT\) 

----~6TD. 

a. Rs. 43,000 
c. Rs. 55,000 

b. Rs. 47,000 
d. Rs. 63,000 

56 Accountancy 1/7 

m 



3. Income and expenditure account shows: 3. 
a. Surplus 
b. Deficit 
c. Surplus or Deficit 
d. Surplus and Deficit 

4. On admission of a partner, debit 4. 
balance of P & L account is ___ _ 
a. Credited to old partners 
b. Debited to old partners 
c. Credited to all partners 
d. Debited to all partners 

gQ®cfho ~CTR ng)cfu<ru@nJo3611s1~<3 ®c)c66)'D6ra 

c£n06lTI1c66) 6 cm@. 

a. f2:H~o 

b. cfhl2l2l1 

c. a:H~o ((ffi)@~ffh1m8 cfhl2l2l1 

d. f2:H~ru6o cfhl2l2l1<nJ6o 

nJffh0§1<nJ6@s ml<nJ0m cru0<nJ<mID acruon.01g 

~ of a Q.I o rn5' ®c) c66) CD 611s1 @ Q.I @ M 6l1J1 g 
6l1JOQJ®<ru ----

a. nJ\P(D) nJffh0§1cfhWc06) LcfhM1g' 6).n.J~JcmJ. 

b. nJ\P<nl nJffhO§lcfh<mc06) @M6ill1g' @.n.J~6cm6. 

C. ng)~O nJffh02}1cfh<mc66)6o LcfhM1g' 6>.n.J~6cm6. 

d. ng)~O nJffhO§lcfh<mc66)6o 6>M6l1J1g' 6).n.J~6cm6. 

Answer all questions from 5 to 8. Each carries 
2 score. 

5 1.Dl®«rn s OJ6)(l)(D)l~ riID~P c:.cufl(3~6?ffiu3.ooio 

22(lffl))<l>o ri(i)'=l'l®l<lh• 2 OUC:dbfl© OJ1a»o. 

5. Write the changes affected on assets 
from the following journal entries. 

5. cmcm1m1c66)6cm ag;iai6mm8 n©®LS1cfh§1m8 m1cm6o 

~<ru®lcfh§1m8 rucm136gm 0ogo raj)\PJ®Jcfh. 

6. 

a. Revaluation a/ c Dr 1,200 
To Stock a/c 1,200 

b. Land a/c Dr5000 
To Revaluation a/ c 5000 

A and B share profits in the ratio of 5:4. 6. 
They admit C for 1/9th share which he 
acquires wholly from A. Find the new 
profit sharing ratio. 

7. Write two examples each for capital 7. 

receipts and revenue receipts. 
8. The capital account of a partner shows 8. 

a credit balance of Rs.25,000 on l5t 

January 2016. He introduced further 
capital Rs.15,000 on 31 st May 2016. 
Calculate interest on capitals payable to 
him at 10%p.a. Books are closed on 31st 

December each year. 
Answer the questions 9 and 10. Each carries 9, 

a. Revaluation a/ c Dr 1,200 
To Stock a/c 1,200 

b. Land a/c Dr5000 
To Revaluation a/ c 5000 

A <nJ6o B <nJ6o Q.IO@o nJffh1s6cm@ 5:4 raj)cm 

((ffi)ffi6nJocmcmm1Q.I06TD. ((ffi)OJ© C @<nl 1/9th 

630n0©1c06) CT'\lOOnJmcmm1m8 a.n.J@c66)6cfh<nJ6o ®c)@ 

l2lJ\PJOJffiO<nlJo A <nJ1m8 mlcm ng)5Jc66)J(TT)J. 

nJ6®1<nl ®c)ffiJnJO®o ah611sJnJ151c66)6cfh. 

l2l4Q.1Wffi rumru6c£n<J3c66)6o orumj6 rumru6cfh<mc66)6o 

©6ra ru"l®o ~BOn0©6lTI0IBW raj)\PJ®Jcfh. 

g;im6rum1 1, 2016 <n 63©6 nJffhO§l<nlJ6>5 l2l4Q.1Wffi 

®c)c66)'D 611s1m8 25,000 ©4nJ <nlJ6>5 lcfhM1g°' 

6l1JOQ.l®CTUJ6ra. ((ffi)<nJOW 6)(2)(l)) 31, 2016 ru"l611sJo 

15,000 ©4nJ l2l4Q.1Wffio 6>cfh0611sJ OJ©Jcm6. l2l4Q.IW 

mcmmlm l2lJcfhg}1m8 10% ruoalril:flcfh m1mc66)1m8 

nJ Q.11 CR> cfh6mc66)0c66) 6 ah. ((ffi)c66)'D611s 6 cfh<m cm "Im ':Bo 

c66)6cm@ ng)~O ruain'l:1ru6o M1cruo6l1Jc3 31 ffi0611). 

10 OJ6)(l) ri(j)(l1}1 C:.cuflC3~6?ID~l6>5 22(lffl))<l>o ri(i)'=Pl 

3 score. ®l<lh. 3 OUC:<lhfl@ ru1a»o. 

9. Shafi and Sinan are equal partners in a 
firm. They admit Jasim for a fifth share 
in the profits. Jasim contributed the 
following assets towards his capital and 
premium for goodwill. 

9. n'l:ion.01, cru1moo3 raj)cm1 ruc3 63©6 CT'\lOOnJ m 

cmml@Q.I ®JQ.ljnJffhOg}1cfh§06TT). ®c)QJ@ 1/5 Q.10@ 

ru1nn1®o mm8cfh1 g;iocru101@m m1<nJl2l1c66)6cm6. 

g;iocrulo ® o@ \P cmcm136gm ~ <ru ®1 cfhW l2l4 Q.I w 
mcmm1m6o (f)6Mru1m8 LnJ"l01<nJcmm1m60o<nJ1 

@c£no611s6 rum6cm6. 
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Machinery Rs. 50,000, Furniture Rs. 
15,000, Stock Rs. 10,000 and Cash Rs. 
12,000. 
Firm's goodwill is fixed at Rs. 50,000. 
Give journal entries to the above. 

6>12lci1::fl6ll)01 Rs. 50,000, o.0@6ll)1~<8 Rs. 
15,000, ~?]OcOO Rs. 10,000, ca,Jorrl1 Rs. 
12,000. 

10. From the following information 10. 
ascertain the divisible profits of a firm 
where A and B are partners. 

ffil.OOnJITT<mID16>0R CDJ<WOJ1©8 50,000 ©4nJ<DJ06ll). 

~ @.!@6ll)ro8 n(i)® cs1 ca,u3 n(i) <cP J ® J ca,. 

cmcm1ro1c66)6cm ru1ru@6l313§1©8 m1cm6o A <DJJo 

B <DJJo nJIB>0~1ca,§o<DJ136~ ffil.OOnJm<mm16>CTR 

ru"l®1c66)o® ca,<cP1<DJ6cm Q.I01so ca,6ll)c66)0c66)Jca,. 

a. Profit as per P & L account Rs. 28,000 
b. Partners capital account shows an 

opening balance of Rs. 25,000 each. 
Interest on capital to be provided @ 
10% p.a. 

c. During the year A withdraws Rs. 
4,000 for his private use. Charge 
interest on drawings@ 5% p.a. 

Answer any one question from 11 and 12. 
Each carries 4 score. 
11. X, Y and Z were partners who share 

profits in 3:2:1. Z retires. Goodwill for 
this purpose is valued at two years 
purchase of average profits of the firm. 
a. Compute the value of goodwill, if 

average profit is Rs. 18,000. 
b. Pass necessary journal entries for 

treatment of goodwill. 

a. P & L ®3c66)'D6ra LnJca,o ro IZlJ~ Q.I01so 

Rs. 28,000 
b. nJIB>O §1 cS,§J6>S 12l4Q.I mm ®3c66)'D611s16>Q.I 

ructln<1::10001s 6TI..IOQ.l®cru Rs. 25,000 @4nJ 

ru"J®l2l06ll). 12lJQ.lillITT®ID1m 10% OJO©n<1::11ca, 

nJQ.11CR> mro8ca,6ll)o. 

c. msij ructln<1::1<mm1©8 A 4,000 ro4nJ ®6>0R 

cruJca,oroJ ~ru®J<mm1mo<DJ1 nJ1®ruQ.11c66)6 
cmJ. ®3®1m IZlJcS,§1©8 5% ruoctln<1::11ca, nJQ.11CR> 

gQ'D50c66) 6ll)o. 

11, 12 o.(j)m>'l <::1l..1:JC3~67IDW.96) 4 cru<::clb:J© ru'l<l»o. 

o.(j) 6) (l))ab l 06 0 63 ITT) lm ~arnna, 6) (1}g:>6 (l)) 6 clb. 

11. nJIB>O§lca,§O<DJ X, Y, Z n(j)cm1ructl Q.I01so nJ!B>1 

s 6cm® 3:2:1 n(j)cm <ID3ITTJnJO®<mm1QJ06ll). Z ru1ro 

12l1c66)6cm6. gQ®16>0R isOCDl2lO<DJ1 CDJ<WOJ1©8 c6,6ll) 

c66)0c66)J(Tn<ID (R)(l)0(R)(l)1 Q.101s6)@ID 2 OJ©n<l::I nJ©~~ 

cri>cru1©8 n(j)SJ ®ID J 6)c6,0611s06ll). 

a. CDJ<WOJ1©8 ru1Q.I c6,611sJnJ1S1c66)Jc6,, (R)(l)OCR>©1 

Q.IOiso 18,000 ©JnJ<DJ06)6ll)!B>1©8. 

b. CDJ<WOJ1~16>CTR ITT1c66)J~nJ0c66)JcS,®c66)J~ 

~ @.!@6ll)ro8 n(i) <cP J ® J ca,. 

12. In which ratio the following are shared 12. 
by partners? 

.!2JJOJ6>S cmcm1ro1c66)6cmru6><DJ nJIB>0§1ca,u3 O{'.B® 

<ID3ITTJnJO®<mm1QJ06ll) ru"l®16>~5Jc66)Jcm®. 

a. Goodwill payable by the incoming 
partner. 

b. Goodwill payable to the outgoing 
partner. 

Also write any two differences between 
those ratios. 

a. nJ6®1<DJ nJIB>O§l mro8ca,6cm cn6<Wru1©8 

b. ru1rol2l1c66)6cm nJIB>O§lcOO mro8ca,6cm cn6<Wru1©8 

g'Q'D <ID3ITTJnJ0®6l313® ®1Zl2J1QJJ~ (l)(il'g OJJ®JO 

CTU6l313® ca,4s1 n(j)\P6® 6ca,. 
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Answer questions 13 and 14. Each carries 5 13, 14 n(j)cm1 (g.!UO<l~5mC/3d:)6) ~am»@o n(j)'=Pl®lcfb, 5 

score. (n)(gcfbO@ ru1®o 

13. Show journal entries for the following 13. 6306 ru6®1m> o.Jffhe>~16>m> mlm>01c06)6cm®16>1 

revaluations made at the time of @e>(J)0ocwl mscmm1cw7362aill ru6m<804Q.1Jim1<86TT) 

admission of a new partner. cwanm16>1 ~~(36TT)cm\ n{i)CT3Ls7ce,u3 n{i)\PJ®Jdh. 

a. Value of inventory reduced by Rs. a. cg?J.?Oc06)16>1 ru1Q.I 3,ooo ro4nJ c0,606mlm6 
3,000. b. 2,000 ©4o.Jm>J6)S ~rug1v ru1QJm>1iP®Om>1 

b. Patents of Rs. 2,000 is found valueless. c. Ld'),CW1~g<8cru 1,000 m4nJ d'),J06mlm6. 
c. Liability for creditors decreased by d. 4000 m6rum>66>s n0<86TT)1~<8 3,600 m4rud36'> 

Rs. 1,000 ru1cm\c06)6cm6. 
d. A furniture costing Rs. 4,000 was sold 

for Rs. 3,600 
e. Provide Rs. 700 for liability for 

damages 

6) ru cB6) 6TT) o. 

14. A vanthika, Anvidha and Alamkritha are 14. nJffhe>~lc0:,~om> Clffilruamlc0:,, Clffilmrulw, ClffiJQ.locfu1® 

partners in a firm sharing profits in 2:2:1. 
Avanthika retires from the firm on 31st 

May 2017. Her capital account showed 
a credit balance of Rs. 30,000. She is 
entitled to interest on capitals at 10% p.a. 
The firm had a General reserve of Rs. 
12,000. The profit of the firm up to the 
date of retirement is to be ascertained 
on the basis of previous year's profit 
which was Rs. 18,000. A vanthika is paid 
Rs. 4,050 immediately in cash. Prepare 
her Capital account. Books are closed on 
31st December every year. 

Questions 15 and 16 carry 8 score each. 
Answer any One 
15. Ganesh and Shaji are partners sharing 

profits in 3:2. They admit Mohan in to 
the firm on the following conditions. 
1. Mohan brings in Rs. 25,000 of which 

Rs. 5,000 is for goodwill premium. He 
is given 1/5 share in the profits. 

2. Stock is reduced by 5% and furniture 
enhanced to Rs. 12,000. 

3. Provision required on debtors for 
doubtful debts is 5%. 

4. A claim for damages for Rs. 2,000 is 
disputed by the firm and on 
compromise it is settled at Rs. 1,000. 
Their balance sheet before admitting 
Mohan is given below: 

n{j)cm1ru<8 Q.IO@o nJffh1s6cm@ 2:2:1 n{j)cm Clffilm6 
nJo®cmm1Q.lo6m. 2011 6)(2)(!2) 31 en Clffilruam1c0:, 

ru1@11l1c06)6cm6. Clffilru~66>s 06Q.1Wm Clffilc06)'!>6rril1cml 

30,000 ©4nJ 6TlJOQ.ICT3m.)J6ra. !2l4Q.1Wffi<mm1m 10% 

ruoa>o9::Hcfu o.JQ.11CR> mcm\c0:,6TT)o. cruoonJmcmm16>1 

~mocml o1m.)(8ru 12,000 @4nJm>C>Gm. rulm01c06)6cm 

Blrum.)o ru6>©m>J2aill cruoonJmcmm16>1 Q.IO@o 

cfu\P16mlm rualo9:16>cmm Q.I0@0om> 1s,ooo m4nJ6>m> 

ClffiJS1 cruoom !2lC>c06)1 cfu6TT)c06)0c06) 6TT)o. Clffilru aml 

cfucr:»d36> 4,050 @4nJ g2so8 o.J6TT)!2le>cw1 mamc0:,6cm6• 
(lffi)QJ~J6)5 !2llQ.l(l)ffi (lffi)c06)'!)6ra (1})(Il)C)()C)c06)Jcfu. 

cfu6ffic06) 6 c0:,u3 ® "lal <;½:j0c06) 6 cm@ cwl m.)o 6TlJ<8 31 

moGm. 

15 iDl®~ 16 ClJ6la> G.!LIO<l~5mu3d:)6) 8 cruGcfbO@ ru'la»o 

~6)®1lbleiio 63cmlm ~(1ffij)(()6)/D',Pl®lcfb 

15. nJffhe>~lc0:,~om> (J)cg6TT)cJ5, o9:J0~1 n{j)cmlrual Q.IO@o 

nJa:h1s6cm@ 3:2 n{j)(TT) ClffilffiJnJO®anm1Q.I06m. 

ClffiJQJ(8 ~!2l0n0ffi6)ffi ®06>\P nJOCWJo LnJcfuO©o 

mlcw01c06)6cm6. 
1. cg0on0CT8 2s,ooo ro4o.J 6>cfuOGTTilJrum6cm®1cml 

s,ooo m6ru (J)6cwru1cml Lru"l0lm>00Gm. Clffilm>o 

~J6>5 Q.IO@ rulnnl®o 1/5 ~Gm. 

2. (g?J.?0d36> 5% cfuJOm>6cm6, n0<86TT)1~(8 12,000 

©6nJm>lcgQJd36) rualoo1~6. 
3. m.)o(R)(Il)cfu©00m> cfhScmmlm 5% 0ogl 

rucr:»c06)6TT)o ( 6>LnJC>rulo9:1CT3) 

4. 2,000 ©6o.Jm>J6>5 ffio91SnJ©1nOO©cmm1m 

cruoonJmo ®alc06)cmmlcgQ.1(86)<;½:jSJcfhm>60, m.)0 

ruo m> cmm16>1 @O(J) 0ocwl 1,000 @4nJ 

mcmlcfhom6o ®"lm60om1~6. 
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Balance Sheet 
Liability Amount 

Sundry Creditors 36,000 
Bills payable 17,500 
Capitals: 
Ganesh 50,000 
Shaji 45,000 95,000 

1,48,500 

Show Revaluation account, partners 
capital accounts and new Balance Sheet. 

16. Goodwill is to be valued for accounting 16. 
purposes at the time of reconstitution of 
a firm. Explain the various methods of 
valuation of goodwill. 

Assets Amount 

Bank 15,000 
Stock 18,500 
Sundry debtors 12,000 
Furniture 8,000 
Machinery 30,000 
Buildings 60,000 
P &Laccount 5,000 

1,48,500 

nJ 6 m c3 0 l e.i 1 m 1c36ln w ano cf:)6) 'D 6m', 01 e.i w m 

(IDo cf:)6) '!) 6l1s 6 c0, u3 , nJ 6 ® 1 (Il) 6l1J O eJ ml (Tl) <il::11 g 
n4)cm1 OJ ®WOOO cf:)6) 6 c0,, 

<T\illOnJmcm1rfl@(1R nJJ m&CTUooeJ os mcmm1@(1R CTU 0 

wcmm CIDocf:)6) 'D 6l1s16/IB ~ OJ oo 1 cmm 1 cg e.i cf:)6) o w1 

(I) 6 M OJ1 ~1 m OJ1 e.i m1(JQ1J w1 cg cf:)6) 6l1s ® o 6T1). 

(f)JCWOJ1©S OJ1e.im1c36lnwcmm1@(1R OJ10J1W 01@1 

c0,CJ3 OJ 1 (R) B 1 c0, © 1 cf:)6) 6 c0,, 
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PART-B 

COMPUTERISED ACCOUNTING 

Answer all questions from 1 to 3. Each carries 1 r.ni®~ 3 OJlil@Wl~ o(i)iP C-'l.l:><J~67IDC/3«96)lo 2?am» 

1 score. a>lilr.ng,l®lc&. 1 (T\)<J:c&:><3 ru1a»o. 

1. The code KNR is assigned to Kannur. 1. KNR nfi)CTn® dh6™J©1m6 mm8c0,lco>l01c06)6CTn 

2. 

3. 

This is an example of ___ code. Gdhorux)@. @® ___ m g2Boo.00Gm00 

a. Block code b. Mnemonic code @. 

c. Sequential code d. None of these a. Block code b. Mnemonic code 
c. Sequential code d. None of these 

Write any two advantages of using 2. 
electronic spread sheet in business. 

_____ is an identifier of a piece of 3. 
information shown in a chart. 
a. Legend b.View 

611J1<ru1m~1m8 gQgJcfuGLSOGmlcfu cruLnJC\.DriU"lg 

g2nJGCQ)0(/)1c06) 6 ITT)(ID 16>1 n43 6)(ID83, 1 gJJ O ©GITT GQ)CTll 

c0,u3 nfi)\PJ®Jdh. 

!l.JO@§l6>g_i OJ10J©6ffi36>gz LnJ®1nJOB1c06)6CTn 6)!2.JOJ 

OJ10J©GmcmID16>0R CTUJ!l.Jdh006ffi __ _ 

a. Legend b. View 
c. Format d. Formula c. Format d. Formula 

Answer all questions from 4 to 6. Each carries 4 r.ni®~ 6 OJlil©Wl~ o(i)~:> C-'l.l:><J~67IDC/3«96)lo 2?am» 

2 score. a>lilr.ng,l®lc&. 2 (T\)<J:c&:><3 ru1a»o. 

4. From the following transactions, identify 4. ®CTn1©1c06)6CTn @SnJos6c0,gzlm8 m1CTn6o @Tc)c06)'D 

5. 

the ledger accounts to be created and 6Tls16lffi G<ruon.0gG>ruwm g2nJGWO(f)1c06)6Gcruou3 

their group in an accounting software. g26TlsOGc06)6TlsJCTn g_i(U)~@ ffiTc)c06)'D6TlsJdhgz6o 

a. The proprietor withdrew cash for his ffiTc)OJWJG>S L(f)l<;:8Jo ®10l~olw6c0,. 

personal use. a. g2s0cruoo3 m:>JdhO©~ ~OJ(R)~cmm1mow1 

b. Paid rent to the landlord nJGmo nJ1CT3rug_il~6. 

The following parameters in the PMT 5. 
function stands for: 

b. lsJOJJ50c06) QJOSdh mffi8c0,l 

PMT n..06Bril::lffi16)g_i ®06)\P ®CTn1©1c06)JCTn <'1fl..lS 

dh6m3u3 nfi)<m>lG>m CTUJ!l.Jl <;:81 c06) 6 CTn6: 
a. pv a. pv 
b. Nper b. Nper 

6. In a spreadsheet, Appu entered the 6. cruG>cnJcw'ril::l"lg1m8 G®cd>0omo dhGmc06)0c06)60JoCT3 

formula '=SLN(D3,E3,F3)' for calculating @Tc)<;:8J G©ru 6><;8 s 6 cmmlw cru0 ruo c0,~ 006ll) 

depreciation. What these elements D3, '=SLN(D3,E3,F3)' @®1©8 D3, E3, F3 nfi)CTn"l 

E3 and F3 stand for? <'1fl..1Sdh6m3u3 CTUJ!l.J1<;81c06)6CTnG>®omo@? 

Answer questions 7 and 8. Each carries 3 1, s o(i)<m1 C-'l.l:><J~67IDC/3cf}6) 2?am»a>lilr.ng,l®lc&. 63:>Ca>:> 

score. 
7. Name the chart mentioned 

following statements. 
a. Charts with vertical bars 

anlmlo 3 ffi)<J:c&:><3 ru1a»o. 

in the 7. ®CTn1©1c06)6CTn®1m8 m:>6!2.Jl<;:81~136~ !l.J0@§1G>CTR 

GnJ6>©\P6® 6dh. 

a. gjo611J(2)0CQ) 611JOOJdhGgzOS dhJS1W !2.JO©§ 

b. Charts shows trends over time b. 63©6 LnJG®~dh cfuOgJWgzOJ16>g_i LnJOJGm® 

CTUJ!2.J1<;81c06)JCTn !2.JO©§. c. Charts with horizontal bars 
C. ®1©<1lli"lm0ow 611JOOJdhGgzOS dhJS1W !l.JO@§. 
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8. Yuktha entered the number 250000 in 8. m>JcB©) AS n(DCTn @(T\)~1cw 2soooo n(DCTn (T\)o6Uj 

<8©6U 6)<;H SJ <mm6 cm 6. gQ'D (ruo6Uj@m> 

'Rs.2,50,0001 
n©CTn 0o®~c0:, ©lnJ<mm1<8etc06) 

f2l0$?60JO® (T\)o.()Q(D)1cS6)Jcfu. 

the cell AS. Help her to format the 
number as 'Rs.2,50,0001

• 

From questions 9 and 10, answer anyone. 
Each question carries 5 score. 
9. SLN and DB are the two important 

functions in spreadsheet. 
a. State the purpose for which the above 

functions are used. 
b. Write the syntax and explain its 

parameters. 
10. Femi is preparing a Payroll statement. 

Help her to complete the same by giving 
necessary formulas. 
DA is 60% of Basic pay 
PF is 10% of Basic pay 
IF BASIC PA Y>S0,000, then HRA -
Rs. 1,500 otherwise Rs. 1,000. 

9, 10 <'l(j}ITT>1 C.!LIC>C3~6lm~1@3 ~6'>®8ble.1lo 61ITT>lm 

~@m(l)6)f1lg>l ®l cfb. fil(l)l C!LIC>C3 ~ arn»lm 5 m)CcfbC>© 

9. SLN, DB n{j)CTn10J (T\)@LnJCWn'l::11g1@ei LnJWO 

m@<;H§ ©Gm n.nron'l::lm 6 c0:,~06m. 

a. gQ'D n.0 ro n'l::I m 6 c0:,CJB n{j)om1 mo©5 22 nJ <8m>o (1)1 

cS6)JCTn6@0Jcm OJ1(J()Bf2l0cS6)Jcfu. 

b. CTJIDOJm>J@S OJQcfujne.tSmm>6o CTJID®1@1 ne.15 

cfu6m36)~m>6o OJ1(J()B1cfu©1cS6)Jcfu. 

10. 6)n.Of2l1 63(l)J (J()(TlJ~ oJ§lcfu ©)(D)Q0QcS6)Jcfu(D)Q6TT). 

~OJ (J() j (2)Q(D) (T\)(2) OJ() c0:, j 6m3u3 n{j) !PJ ®1 @m(ffi 

oJl©<mID1m>OcS6)JOJO® CTJIDOJ6)~ (T\)o.0Qm>1cS6)6cfu. 

cwln{j). mms1cruoom (J()<Tll~<mm1@1 60%. 

nJ1.n{j)n..O. mms1cruoom (J()CT1J~<mm1@110%. 

so,ooo ©lnJW1cw c0:,1s6®cw mms1cruoom (J()<Tll~ 

f2lJ~OJ@c06) n©-~J.~@.n(j). 1,500 ©lnJm>6o f2l$?6 

A B C D E F G 

1. Name Basic Pay DA HRA Gross pay PF Net pay 

2. Sankar 56,000 ? ? ? ? ? 
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Que. 
No. 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 
SET-A 

SCORING KEY 

Sub. Scoring Indicators Score Total 
Que. 

PART A 

b. Old ratio 1 1 

b. Rs.47000 1 1 

c. Surplus or Deficit 1 1 

b. Debited to old partners 1 1 

a Value of stock reduced by Rs.1200 1 

b Value of land increased by Rs.5000 1 2 

New ratio is 4:4: 1 2 2 

Capital receipts : Legacy, Life membership 1 
fees etc 2 
Revenue receipts : Subscriptions, Sale of old 1 
news papers etc 

Interest on capital Rs.3375 2 2 

Machinery a/c Dr 50000 
Furniture a/c Drl5000 
Stock a/c Dr 10000 
Cash a/c Dr12000 2 

To Jasim's Capital a/c 77000 
To Premium a/c 10000 3 

Premium a/c Dr 10000 
To Shafi capital a/c 5000 1 
To Sinan capital a/c 5000 

Int. On 
Cap- I 

Divisible profits Rs.23100 Int. On 3 
Draw- I 
For answer 
- I 

a Value of goodwill = 18000 x 2 = 36000 2 

b X's capital a/ c Dr 3600 4 

Y's capital a/ c Dr 2400 2 



To Z's capital a/c 6000 

a Sacrificing ratio 1 
12 b Gaining ratio 1 4 

For any two differences 2 

a Revaluation a/c Dr3000 1 
To Inventory a/c 3000 

b Revaluation a/c Dr 2000 1 
To Patents 2000 

13 C Creditors a/c Drl000 1 
To Revaluation a/c 1000 5 

d Cash a/c Dr3600 
Revaluation a/c Dr 400 1 

To Furniture a/c 4000 

e Revaluation a/c Dr700 1 
To Liability for damages 700 

Interest on capital - Rs.1250 1 
14 Share in GR - Rs.4800 1 5 

Profit to date of retirement - Rs.3000 2 
Amount transferred to Loan a/c Rs.35000 1 

Revaluation a/c - Profit Rs.14 7 5 3 
15 Capital a/c - Rs.50885, Rs.45590, Rs.20000 3 8 

Balance Sheet - Rs.170975 2 

16 Explanation of various methods of goodwill 4x2 8 

PARTB 

1 b. Mnemonic code 1 1 

2 Any two advantages 1/2 X 2 1 

3 a. Legend 1 1 

a Drawings a/c - Capital a/c 1 
4 b Rent a/c - Indirect expenses 1 2 

a Pv - Present value ( Loan amount ) 1 
5 b Nper - Number of payments/periods 1 2 

D3 - Cost of asset 
6 E3 - Salvage/Scrap 2 2 

F3 - Life 

a Column charts 1 
7 b Line charts 1 3 

C Bar charts 1 



8 For the steps to format a number lx3 3 

9 a For the calculation of depreciation 1 

b For the syntax and explanation 2x2 5 

DA=B2 x 60% 1 
HRA =IF(B2>50000,1500,1000) 1 

10 Gross Pay= B2+C2+D2 1 5 
PF =B2 x 10% 1 
Net pay = E2 - F2 1 




